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Revision questions
(45 marks; 45 minutes)

1 Explain the meaning of the term ‘budgeting @
2 List three advantages that a budgeting s

brings to a company. @
3 Why s it valuable to have a yardstick against

‘which performance can be measured? @
4 the advantages of a zero-based

budgeting system? @
5 Briefly explain how most companies actually

set next year's budgets. @
6 Why should budget holders have a say in the

setting of their budgets? @

ncome 4200 | 4500 | 4,000 | |
arible cons | 1800 | | 2000 | 1800
Foedcosts | 1,200 | 1,600 1,600
e asoo | 4100

[ Proft. [ [ 600
Table 36.3 A budget statement

7 Copy and complete the budget statement
shown in Table 36.3 by fillng In the gaps.

8 How could a firm respond to an Increasingly
adverse varlance In labour costs? @
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9 Explain what is meant by a ‘favourable cost variance’.(3)
10 Look at Table 36.4, then answer the
following questions.

May

Budgeted _Actual

4,200
1,500

leh\-:nltl' 1,000 |
edcosts | 1,200 1400 |

{1200 ]
Totalcosts | 2200 2800
S ——

Table 36.4 Budgeted and actual figures for May and June

) Calculate the budgeted and actual profit
figures for both months. @
b) Identify a month with:
1) afavourable revenue variance
1) an sdverse variable cost variance
i) a favourable fixed cost variance
Iv) an adverse total cost variance
V) an adverse revenue variance
vi) a favourable total cost variance
Vi) an adverse profit variance
ili) a favourable profit variance. ®




